USN 18EE32
 Librarian :
Leammg Reoﬂurce "l:hlrd Semester B.E. Degree Examination, Feb /Mar. 2022
F"i
Acharya Instit Luies Electric Circuit Analy5|s
Time: 3 hrs. « Max. Marks: 100
Note: Answer any FIVE full questions, ciz,éos ng ONE full questionfrom each module. -
‘Module-1

1 a

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice. . .

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8 =

2

(06 Marks)

' Fig. Q1(b)

C.
(08 Marks)

a.
(08 Marks)
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circuit shown in
(06 Marks)

b. Using Mesh analysis, find the
Fig. Q2(b).

Cs
(06 Marks)
Modules2

a. Use Superpogltlon principle to find the current in 2Q resistor in the network shown in
’ g 06 Marks)

b. Find the Thevenin and Norton equlvalent ClI‘CUlt at termmals AB for the circuit shown in
Fig. Q3(b). « 10 Marks)

i

a.
Given that ER = 230 0°V ; VEY =230] - 120° V ; Eg=230{120° V. ; 06 Maxjks)
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b. F'or the circuit shown in Fig. Q4(b), determine the im &aﬁée Zx such that maximum power

G

b.

(08 Marks)

(06 Marks)

(07 Marks)
int the RLC parallel 01rcu1t parameters whose 1mpedance response curve is shown in

(07 Marks)

o E; of 1A. The switch across the source
LifR=100Q and L = IH. (06 Marks)

. = 0.4H and C = 40pF. Resonance is to be

f achreved by variation of Ry and Re. Cé late the resonance frequency for the following

“cases : i) Rp= - Rec=80Q ‘ﬁ&,‘n)( Ry, =80Q ; Rc=0 iii)) Ry =Rc=100Q.

(08 Marks)

- 2 v
% and % att = 0+";§-when the switch K is moved from position 1 to 2 att=10
t

in the network shown in Frg Q6(b). Steady state having been reached before switching.
. (06 Marks)

Determin




C.

a.

b.

a.
b.

C.

a.
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Why do we need to study initial conditions? Writeithe equivalent form of the elements in
terms of the initial and final conditions of the elqméht. (06 Marks)

Module- 4
The current function i(t) shown in Fig. Q7(a) is 1mpressed on a capagcitor ‘C’. What should
be the strength ‘A’ of the impulse so, that the voltage across the. becomes zero for
t>5 sec. (10 Mal;ks)

2
10 Marks)
Fig. Q7(b)
(08 Mafks)
If f(t) = 2t, sketch the following ) i) f{t—2)u(t-2)
iv) f(t)8(t) v) f{t)d (t—=2). (06 Marks)
In the circuit shown in Fig. Q8(c) the sw1tch is closed at t = 0 and there is no initial charge

on either of the capacitors i’. Using Laplace transformation.
’ (06 Marks)

Module-5
A three phase, 4 — w1re 150V, CBA system has a star connected load with Z, = 6 L Q

ZB =6[30°Q an&WZc =5/45° Q. Obtain all the i) Line currents
iii) Hence draw the Phasor diagram. (08 Marks)
Define [ZJ and [Y] of a two port network and derive for [Z] in terms of [Y]. (08 Marks)
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¢. Determine [Z] for the network shown in Fig. Q9(c).g (04 Marks)

4

¢

Fig. Q9(c)

10 4 A three phase, 3394V ,TV‘ABC system has a del\t\aﬁﬂ, connected load with Zag = 10[&0'9 ,
e = 151 -30" Q. prain phase and line currents as well as draw the

Zse = 10]30° Q an
phasor diagram., Assume Vi as a reference pﬁasor. (10 Marks)
ind. [Y] for the two port network shown in Fig. Q10(b).

II' | Do~ =

b. Obtain [Z}:

Fig. Q10(b)

(10 Marks)

50f5




